6.1b - Slope y-Intercept Form

Part 1: Graphing a Line Using the Slope and the y-Intercept:

Example 1: How can we graph y = gx + 1 without using a table of values?

3/3

and y-intercept:

a) Theliney = gx + 1, has a slope:

1

b) Plot the y-intercept on the given grid
c) How can the slope be used to determine other points on this line?

Use the slope ofgwhich has a rise of 2 and a run of 3 to plot
another point on the line.

You could also use the opposite slope to plot points on the other side of the
y-intercept.
The opposite slope, :—; ,hasariseof _~ & and a run of "3

d) Use the slope to determine 2 other points on the line and draw in the line.
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Example 2: Graph the liney = —3x - 5 using the slope and the y-intercept.
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Slope:

y-intercept: b - - 5



Part 2: Find the Equation of a Line Graphically Given Two Points

Example 3:

N .
a) Plot the points A(?-CS, 3) and 8268&, g)on the given grid.
b) What is the y-intercept for the line that passes through A and B?

c) What is the slope for the line that passes through A and B?
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d) What is the equation for the line that passes through A and B?

Note: the equation of a horizontal line is always

< 3 in the form y=b. Every point on the line has a y-
coordinate of 3.
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Example 4:

a) Plot the points A(SI, §j and B@, -ggjon the given grid.

b) What is the y-intercept for the line that passes through A and B?

No U-{n"’trcef"' -

% -intercept = §

¢) What is the slope for the line that passes through A and B?
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d) What is the equation for the line that passes through A and B?

xX=3

Note: the equation of a vertical line is always in
the form of x = the x-intercept. Notice that every
point on this line has an x-coordinate of 5.
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Part 3: Consolidation

a) In general, a horizontal line has a slope thatis _Z&r 0

and an equation of the form _{ = where ‘b’ is the
b) In general, a vertical line has a slope that is ;ma]gfmﬂ and
an equation of the form X = a where ‘@’ is the

=1

c) State the steps required to graph a line using the slope and the y-
intercept:

1. Dok Ha tj.i.\{ucqyl'
2. Use fa. slope, fo plat points on efther side of the y-ietereggl
3. Draw a sl'mié'd’ lin.e,-lkw'.ek-{m,poi,ds You la(qh‘eol.



